= A -3
HEERBEE «C 7 )
s & H 2022 4 9 A8 3 A * A oA A X3UE—JH
AR 14 B 05 X (& i}
HERTEZ: i o = 15 EFRECT L 5 R 40 A
F—L% 1Q 2Q 3Q 4Q oT TOTAL HiE
BT —ILTo9142 (B) 0 7 0 10 17
1 B 0 &8 0 &
KBRFFZES—ILX (W) 0 14 0 0 14
0 & 18 0 %
Point After Touchdown
F—LA Q BRI BaLETLA BaLRES /v —K TLAHE BRLEFE WM KK
W 2 1:58 PASS #3E Fr—#18/h 15 K #6E R G
N K G
B 2 6:21 RUSH #80iL & 5 #2EF|
- K G
W 9:30 INT #HAEE 73 #6E R
B 4:03 FG #2EF 33
- K G
B 4 4:55 RUSH #357K B 1 #2EF
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
K R P G NG
B8 Rsuh=5212&BTD, Pass=/SRIZ&BTD, INT=A L 2—t T Mgk Z—>LI=TD., PR=/SUk+ JA—UI2kBTD, KOR=F w9771 4—2I2&BTD
2 FUM=D7 D LORERFEIE)E—I2&BTD, FG=T1— LK - T—ILO . SAF=t—T 71
F—L% BHMI—ILTUIA4UT R KRFFES—LX
&5t 5 6
S5 — NRR - RH| 3 - 2 - 3 - 1 - 2
1 T7—ARMEHY
3 down TOEH 1 / 3 / 10
4 down TODEEH 0 / 2 / 2
5 . |@ A @ A
2 S E1% - EHBY—F 25 - 68 25 - 2
_ N ©) ® @ @ ® @
HiE — B —  INT 15 - 6 — 2 10 - 2 - 2
3 AV ) B
b Th 32 4By
RThE BB/Y—K 40 % 63 . 20 % I
4 KE E1% - EH/BY—F 40 - 131 vae 35 - 41 Ve
5 KERFAE ( 5tE% 10 o) 21:25 18:35
I 5 - g —K - -
A Al E1% BERY—F 2 30 vae 2 5 Ve
B 7N E1% - LS 0 - 0 1 - 1
o] J4—ILRT—)L 181 - 53] 1 - 1 0 - 0




